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1. The ______________________ Effect lets ____________ from the sun in but traps _______ from the Earth trying to leave to space.

2. The major gases that do this are _____________ from swamps and cow farts, ___________ from burning fossil fuels, ______________ from fertilizers __________ from evaporated surface lakes and __________ from old refrigerators and aerosol sprays.

3. In a real glass greenhouse ____________ is able to enter through the glass is then absorbed by the surface and converted into ___________ energy, which is stopped by the glass.

4. For the planet, the greenhouse effect allows sunlight to enter through the ___________ which is absorbed by the _____________ and converted to heat. This is then transferred to the __________ which also heats up. Greenhouse ____________ in the air absorb and re-radiate this heat back to Earth making the planet warmer.

5. This is a good thing because it keeps our planet _____________ enough for life to survive but we are adding ____________ gases to the atmosphere trapping __________ heat and causing climate change.

6. Evidence of climate change is the levels of ________ have gone from 300ppm to 400ppm in the last 100 years (a 30% increase) and as it has been absorbed by the oceans in diffusion it has made the oceans more ___________ killing plankton that do photosynthesis!

7. The sea levels have been _____________ due to the glaciers _______________ as the temperatures global have ________________________.
8. The study of ecology includes the interactions between non-living or ____________factors and the living ___________factors.

9. this level include understanding the greenhouse effect and the ozone layer.
10. Food chains start with energy from the ____ through ____-trophs that make their own food by photosynthesis and is passed to _______-trophs that have to eat to get food.
11. In the deep ocean where no light reaches, food chains can start with _____________ when organisms use the energy in chemicals like hydrogen sulfide to make sugars.
12. The plant eaters or ____________ or primary _________ are eaten by ___________or secondary consumers.
13. Every food chain must start with an ________ -troph that can grab energy from the _____ (or ________in the deep ocean) and convert it into the chemical energy stored in sugars.  Then those sugars can be passed by consumption.  Each ________ (feeding) level uses that chemical energy for biological processes and the chemical energy is converted to _______ as it is used.  This heat is not in a useable form so a new supply of energy is constantly needed (energy flows). 

14. Along the way only ____% of the energy is passed because _____% is used at each level for life processes (growth & metabolism) and converted to _______ which is lost to the air.

15. If the autotroph has _____% then the herbivore would have _____% and the carnivore ____%
16. When a toxin is in the environment it is most concentrated at the top/bottom of the food chain as each level eats several organisms of the level below.  This is called ____________________ .
17. This is the case for _______________ contamination in fish so you should only eat small amount of tuna that are a __________ consumer or the amount of __________ which is a pesticide used to control mosquitos.  This increased in bald eagles at the top of their food chain and made their ___________ very thin and breakable.
18. Instead of decreasing like energy; the matter like carbon and nitrogen is 100% recycled (matter cycles) by _______________ organisms such as earthworms, fungi and bacteria. This returns the biotic matter in plants/animals back into the __________matter of dirt/air.  
19. Bare rock can be colonized by ___________ species like lichen that break down the rock into soil and add nutrients when they decompose.  These are replaced by other species as the amount of soil increases/decreases and the biodiversity of species increases/decreases until the ____________ community is reached (like a mature forest). 

20. A lava flow or melting glacier will start ______________ succession but when a fire or flood restarts a habitat leaving some soil to restart the community that is ____________ succession. 
21. In both processes the __________ factors like the amount/quality of soil determines which ____________factors like grass/trees can live there.  As the grass and trees die they add soil nutrients to the _____________factors like soil to improve which species can live there-thus the abiotic and biotic affect each other which is the study of _______________.

22. In primary succession you are starting from ________________so this process takes a _____________time but in secondary succession you already have _______________ so it takes ___________________ time.
